sinx*cosy=("2)*(sin(x+y)+sin(x-y)) D‘3
sin5x*cos3x=sin6x*cos2x

(V2)*(sin(5x+3x)+sin(5x-3x))=("2)*(sin(6x+2x)+sin(6x-2x)) cos”2 x + cos”2 2x - cos”2 3x - cos”2 4x=0
(%2)*(sin(8x)+sin(2x))=("2)*(sin(8x)+sin(4x)) Moackaska
sin(8x)+sin(2x)=sin(8x)+sin(4x)
sin(2x)=sin(4x) 1)cHayana NnoHnxeHue CTeneHun
sin(2x)=sin(2x+2x) 2)notom hopMyribl CIIOXEHUA CUHYCOB U KOCMHYCOB
$in(2x)=2sin2x"cos2x cosx+cosy = 2cos((x+y)/2)*cos((x-y)/2)
sin2x(1-2cos2x)=0 cosx-cosy =-2sin((x+y)/2)*sin((x-y)/2)
sin2x=0 1-2cos2x=0 (1+c0s2x)/2+(1+c0s4x)/2-(1+c0os6x)/2-(1+cos8x)/2=0
2x=Pk cos2x=1/2 [1+cos2x+1+cos4x-1-cos6x-1-cos8x]/2=0
x=Pk/2 2x=+-(P/3)+2Pk [cos2x+C0s4x-Cos6x-Ccos8x]/2=0|*2
x=+-P/6+2Pk/2 c0s2x+C0s4x-c0sB6Xx-cos8x=0
(cos2x+cos4x)-(cosbx+cos8x)=0
OtBeT:+-(P/6)+Pk;Pk/2 (2cos((2x+4x)/2)*cos((2x-4x)/2) )-(2cos((6x+8x)/2)*cos((6x-8x)/2))=0

(2cos((6x)/2)*cos((-2x)/2))-(2cos((14x)/2)*cos((-2x)/2))=0
(2cos(3x)*cos(-x))-(2cos(7x)*cos(-x))=0
2cos(-x)[cos(3x)-cos(7x)]=0

2cosx=0 cos(3x)-cos(7x)=0
cosx=0 -2sin((3x+7x)/2)*sin((3x-7x)/2)=0
x=P/2+Pk -2sin(5x)*sin(-2x)=0
sin5x=0 -sin2x=0
5x=Pk sin2x=0
x=Pk/5 2x=Pk
x=Pk/2

OTBeT:Pk/5;Pk/2



